[

?l

~p ~q is logically equivalent to :

@p—q (b) g —p

(©) ~(p—1) d) ~g—=p

Which of the following is the inverse of

the proposition : “If a number is a prime

then it is odd” ?

(a) If a number is not a prime then it is
odd

(b) If a number is not a prime then it is
not odd

(c) If a number is not odd then it is not
a prime

(d) If a number is odd then it is a prime

What must be the matrix X if

— A
(a.1
(@)a

©3a

)?+(: I})?-&-(a_). ,F\c) kis equal to :
(b)2a
(d) 0

Inverse of the matrix

is :

(a) cos 20 —-sin 26
sin 20 cos 28

(b) cos 20 sin 20
sin 26 —cos 20

(©) cos 20 sin 26
sin20 cos 26

cos20 sin26
(d) [—- sin 20 cos 29}

1 2] [3 8

2X+[3 4-_[7 2}?

T B i ~&
(a) [2 =1 (b) [2 ” 1]

2 6 2 -6
(c) {4 3| ) [4 —?J

i 1 1
The value of | bc ca ab | is :
b+c c+a a+b

(a) 1
(b) O

(€) (a—0b)(b—c)c—a)

(d) (a+Db)(b+c)c+a)
441 442 443

The value of (445 446 447| is:
449 450 451

(a) 441 x 446 x 4510 (b) O

(c) -1 (d) 1

If | a_)l =3, I?I =4, then a value of A
R ;
for which a+Aib is perpendicular to

:—ll?is:

9 3
(@) 75 G
© 3 @3

) g I I T
The projection of a=2i+3j-2k on

N A A
b=i+2j+3kis:

1 2
(@) 717 ®) 7T
() V1T @) 7=



10.

11.

12,

13.

14.

15.

16.

17.

In the group ( 1, 2, 3, 4, 5, 6) under

multiplication modulo 7, 27 1%4 is equal
ta

(a) 1 (b) 4

(c) 2 (d) 3

The maximum of the function
Jcosx—4sinxis :

(a) 2 (b) 3

(c) 4 (d) 5

If the distance ‘s” metres traversed by a
particle in t seconds is given by

s=£—3f, then the velocity of the
particle when the acceleration is zero, in
metre/sec. is :
(a) 3

(-3

(b) -2
(d) 2

For the curve y" =a"~ 1y if the subnormal
at any point is a constant then 11 is equal

(b) 2

(d) -1

. 5 dx .

If x=A cos 4t + Bsin4t then d—z- is equal
t

to :
(a) —16x (b) 16 x
(c) x (d) -x

If tangent to the curve x:at?’,y=2at is
perpendicular to x-axis, then its point of
contact is :

(a) (a, a) (b) (0,

(c) (0,0 (d) (a,0)

The general solution of the differential
. . dy l+cos2y
equation = + 1-cos2y
(a) tany+cotx=c

(b) tan y —cot x=c¢

(c) tanx—coty=c

(d) tanx+cotx=c

=0 is given by :

The degree of the differential equation

2 314 1/3
( [du] ] [dzlf _
I = =|—3 is :
dx dx”

18.

19.

20.

21.

22.

23.

24,

(a) 2 (b) 4
(c) 9 (d) 1

The area enclosed between the curves
y= % and y="x is, (in square units) :

5 5
(a) 3 (b) i

5 12
© 15 (d) &

/8 3
J.o cos”40d0is equal to :

@3 ®) >
©3 @3

J‘"’2 COs X — sin X

—— dx is equal to :
0 l+cosxsinx

() 0 ) 5

T n

© % (@ 7

If ax” - yz +4x — y =0 represents a pair of
lines, then a is equal to :

(a) - 16 (b) 16

(c) 4 (d) -4

What is the equation of the locus of a
point which moves such that 4 times its
distance from the x-axis is the square of
its distance from the origin ?

(a) x2+yz—4y=0 (b) 12+]/2—4lyl =0
(c) .12+yz—4x=0 (d) 1'2+3/2—4|x| =0
Equation of the straight line making
equal intercepts on the axes and passing
through the point (2, 4) is :

(a) 4x-y-4=0 (b) 2x+y—-8=0

() x+y-6=0 (d) x+2y-10=0

If the area of the triangle with vertices
(x,0),(1,1)and (0,2) is 4 square units,
then the value of x is :

(a) — 2
(b) - 4
(c)-6
(d) 8



25.

27.

28.

30.

—;-- B
lim
. cotO
l]—)E
(a) O (b) =1

The co-axial system of circles given by
xz + _1;2 +2¢x+c=0 for ¢ <0 represents :
(a) intersecting circles

(b) non intersecting circles

(c) touching circles

(d) touching or non-intersecting circles
The radius of the circle passing through
the point (6, 2) and two of whose
diameters are x+y=6and x+2y=4is :
(a) 4 (b) 6

(c) 20 (d) V20

If (0, 6) and (0, 3) are respectively the
vertex and focus of a parabola, then its
equation is :
(a) ¥+ 12y =72
(c) y¥* —12x=72

(b) ¥ - 12y =72
d) P +12x=72

For the ellipse
24x> + 9y* — 150x — 90y +225 =0 the
eccentricity e is equal to :
4 2 3
(@) £ (b) £
4 1
(©) 5 (d) 5

2 2
If the foci of the ellipse ———+-Z—-1 and

.
b i 1/

the hyperbola 144 " 81-725 coincide,

then the value of b is :

(a) 1 (b) 7

(©) 5 (d) 9

The differential coefficient is f (sin x) with

respect to x where f(x) =log x is :
(a) tan x (b) cot x

1
(c) f(cos x) (d) 7

32.

33.

34,

35.

37.

38.

1-cosx

If flx)= X X#Y is continuous at
k x=0

x=0, then the value of k is :
(@) 0 ) 3

1
© 5 A -
If (nz_—l-iz—\gl then (3+ w+ 3032)4 is :
(a) 16 (b) - 16
() 160 (d) 16 ©?

1 dy

If y=tan™" (sec x —tan x) , then ol
equal to :
(a) 2 (b) -

1
(c) > (d) -

If x+%==2cosot then x"+%i5 equal to :
L X

(b) 2" cos na
(d) 2 cos no

(a) 2" cos a
(c) 2i sin no

1
j I1-x| dx is equal to :
-1

(a) =
(b) O
(c) 2
(d) 4

J‘ dx

X (_\-7 +1)

7 o
a) log| = |+¢ (b) 10 +c
e ie _\'7+1J . 7 +1
X +1 1 7 +1
(0) 105[‘ 3 ]+c (d) 710g[x;; J-i—t‘
J-\(:? Ny is equal to :

@) 2¥x —¢"* -4 Nxe ™ +¢

(b) (2x - 4Vx +4)e™ +¢
(c) (2x+4Vx + 4)9‘,;4- c
(d) (1 -4Vx) ™ + ¢

is equal to :




39.

40.

41.

42.

43.

44

45,

46.

47,

dx ;

5 is equal to :
X“+2x+2

(a) sin” ! (x+1)+c¢

(b) sin Pl x+D)+c

(c) tan Y+ D+c

() tan™! (x+1D+c

If a tangent to the curve y=6x—x2 is

parallel to the line 4x-2y—1=0, then

the point of tangency on the curve is :

(@) (2, 8) (b) (8, 2)
(c) (6, 1) (d) (4, 2)
0.5737373 ... is equal to :
284 284
@) 397 (b) 405
568 567
(©) 999 (d) 390

The number of solutions for the equation
¥*-5lxl +6=0 is:

(a) 4 (b) 3

(c) 2 (d) 1

How many numbers of 6 digits can be

formed from the digits of the number
112233 7

(a) 30 (b) 60
(c) 90 (d) 120
The last digit in 7°% is :
(a) 7 (b) 9
(o) 1 (d) 3

logx logy logz
a-b b-c c-a

, then xyz is equal

to :
(a) 0 (b) 1
(c)—1 (d) 2

The smallest positive integer n for which
1+ =1 - is :

(a) 1 (b) 2

(c) 3 (d) 4

If costp+costg+cosr=n then
;12 + rjz £+ 2pqr is equal to :

(a) 3 (b) 1

(c) 2 (d) -1

48.

49,

50.

ol

52,

53.

If sin”! ,gr+ cosec” ! i—zg, then x is equal
to:

(@) 1 (b) 4

(c) 3 (d) 5

- :,' - ‘2 -
If 0<x<mand 817" "+ 81°°* =30, then
x is equal to :

T n
@)% ® 3
s 3n
© 3 (d) 7
The equation of the director circle of the
2
% i o )
hyperbola T =11is given by :
@) >+ =16
(b) 2+ _1/2 =4

(c) 1+ y2 =20

(d) o+ yz =12

If Oy is the set of all relations other than
1 with the binary operation * defined by
a*b=na+b-ab for all a, b in (J;, then the
identity in Qp with respect to * is :

(a) 1

(b) 0

(£) =1

(d) 2

The circle

touches :

(a) x-axis

(b) y-axis

(c) both axis

(d) neither x-axis nor y-axis

Which of the following is true ?

(a) The set of all fourth roots of unity is
a multiplicative group

(b) The set of all cube roots of unity is
an additive group

(c) (ab)_l =o' for all a,b in any
group G

x2+]/2—81'+4y+4=0

(d) If (rzb)2 = a2 b? for all a, b in any group
G, then the group G is non abelian



54.

The set of all integral multiples of 5 is a

subgroup of :

(a) The set of all rational numbers under
multiplication

(b) The set of
multiplication

(¢c) The set of all non zero rational
numbers under multiplication

all integers under

57.

58.

If A+ B+ C=180° then thr1111—41~ta:1E is

2 2
equal to :
(a) 0 (b)1
(c) 2 (d) 3

In a triangle ABC if b=2, B=30" then the
area of the circumcircle of triangle ABC
in square units is :

(d) The set of all integers under addition (a) & (b) 2n
55. The value of k SO that (c)4r (d)é6n
X2+ _t[z +kx+4y+2=0 and 59. fsinr+sin®yx= 1, then
2 2
2(x"+y)-4x-3y+k=0 cut cos’2x+3cos’x+3cosP x+cos®x s
orthogonally is : equal to :
.y 10 b _8 (a) 1 (b) 2
2 (c) 3 (d) 0
(c) —1,?- (d) 8 60. If R denotes the set of all real number,
. 3 then the function f: R— R defined
=1 fx)=1x!is:
56. lim [1 . is equal to : (a) one-one only
! _>..,]2 _3a (b) onto only
(a)e (b) e (¢) both one-one and onto
© ¢t (d) & (d) neither one-one nor onto
Answer — Key
1. d 2. b 3. a 4, ¢ 5. b 6. a 7. d 2. b 9. b 10. ¢
11. d 12. ¢ 13. b 14. a 15. ¢ 16. b 17. b 18. ¢ 19. d 20. a
21. b 22. b 23. ¢ 24, ¢ 25. ¢ 26. a 27.d 28. a 29. ¢ 30. b
31. b 32. 3 33. ¢ 34. d 35.d 36. c 37. b 38. b 39.d 40. a
41. b 42, a 43. c 44, c 45. b 46. b 47. b 48. c 49, a 50. d
51. b 52. b 53. a 54. d 55. b 56. b 57. b 58. c 59. 3 60. d




